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Eight Person P, Q, R, S, T, U, Vand W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than
to the right of Q. Two persons sit between T and S. V sits
second to the r| htof U. T S|ts immediate left of Q. W is

not a mmedla e nel_Phbour fV. qﬁ%ﬁ o
@@E
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Eight Person P, Q, R, S, T, U, Vand W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Onl%one erson sits between T
and P. Number of persons to the left of Q is one less than
to the right of Q. Two persons sit between T and S. V sits
second o the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Who sits immediate left of U?

1) P
@
S
W
\Y

O1-ROON
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Eight Person P, Q, R, S, T, U, Vand W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Onl%one erson sits between T
and P. Number of persons to the left of Q is one less than
to the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Which of the following statement is false?

1) P sits at one of end of the row.

2) U sits immediate left of S.

3) There are two persons between U and R.
4) No one sits between W and T.

5) Only one person sits to the right of S.
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Eight Person P, Q, R, S, T, U, Vand W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Onl%one erson sits between T
and P. Number of persons to the left of Q is one less than
to the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

How many persons sits between T and R?

1) One
2) Two

3) Three
4) Four
5) No one
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Eight Person P, Q, R, S, T, U, Vand W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facmq\lnorth direction. Only one person sits between
T and P. Number of persons to the left of Q is one less
than to the nght of Q. Two persons sit between T and S.
V sits second to the right ot U. T sits immediate left of Q.
W is not an immediate neighbour of V.

Who sits at extreme end of the row?

W
R
S
T
U

Q1-ROWON—-
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Eight Person P, Q, R, S, T, U, Vand W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Onl%one erson sits between T
and P. Number of persons to the left of Q is one less than
to the right of Q. Two persons sit between T and S. V sits
second o the_n?ht of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Four of the five are alike in certain way and form a group.
Find the one which does not belongs to the group.

1) P, W
AW, T
3) U, S
4T, Q
5)S. T
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Statement:
M=2B=2N=Z>X<R>S

Conclusion:
. M>X
I. N>S

None is true

Only Il is true

Both | and Il are true
Only | is true

Either | or Il is true

O1-RWN—-
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Statement:
M>N=20O=P<Q<R>S

Conclusion:
. M>P
. O<R

Only | true

On_I%l Il true
Neither | nor |l is true
Both | and |l are true
Either | or Il is true

O1-RWN—-
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor

of E.

ElE A, B,C,D E F G3iTH ‘aﬁw%?n
: %ﬁ%@%ﬁ%ﬁﬁﬁ% L
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Eight persons A, B, C, D, E, F, G, and H are sitting around
a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A.D is second to
the right of F. Two people sit between H and B. G is not an
immediate neighbor of D. H is an immediate neighbor of E.
Who among the following is facing C?

1

O1RWN
>MI WO
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Eight persons A, B, C, D, E, F, G, and H are sitting around
a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A.D is second to
the right of F. Two people sit between H and B. G is not
aP I%mmedlate neighbor of D. H is an immediate neighbor
of E.

What is the position of D with respect to E?

1) Immediate to the right
2) Immediate to the le
3) Second to the right

4) Second to the le

5) Fifth to the right
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Eight persons A, B, C, D, E, F, G, and H are sitting around
a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A.D is second to
the right of F. Two people sit between H and B. G is not an
immediate neighbor of D. H is an immediate neighbor of E.
\1Nho among the following is the immediate neighbor of C?

=
2) F
3) E
4) Bo
5) Both B and F
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Eight persons A, B, C, D, E, F, G, and H are sitting around
a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A.D is second to
the right of F. Two people sit between H and B. G is not an
immediate neighbor of D. H is an immediate neighbor of E.
Which among the following statement is true?

1) E is an immediate neighbor of C.

2) H is an immediate neighbor of D

3) D sits opposite to E

4) C is second to the right of A

5) None of the given statement is true
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Eight persons A, B, C, D, E, F, G, and H are sitting around
a circle. All of them are facing the center but not necessarily
in the same order. Two people sit between C and D. Three
[l)_eople sit between G and A.D is second to the right of F.
wo people sit between H and B. G is not an immediate
neighbor of D. H is an immediate neighbor of E.
Four among the five are same in some way and thus form a
group. Which among the following is oddone out.

1) B-D
2) C-H
3) F-E
4) A-G
5) F - H
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Statement:

Some vowels are words.

Only a few words are sentences.
Conclusion:

. Some words are not sentences.
Il. Some vowels are sentences.

Only conclusion | follows
Only conclusion Il follows
Either conclusion | or |l follow.
Neither conclusion | nor |l follow.
Both conclusion | and Il follows

O1-RWN—-
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Statement:

All numbers are natural.
Only a few numbers are prime.
Conclusion:

|. No prime is nhumber.

ll. Some prime are natural.

1) Both conclusion | and |l follows
2) Only conclusion Il follows

3 On_I%l conclusion | follows

4) Neither conclusion | nor |l follows
5) Either conclusion | or |l follows
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Statement:

Only a few cups are buckets.
No bucket is a jug.
Conclusion:

|. Some cups are not bucket.
ll. Some cups are not jug.

Only | follows

Only Il follows

Either | or Il follows
Neither | nor |l follows
Both | and Il follow

O1-RWN—-



E| ht friends A, B, C, D, E, F, G and H are sitting in a row

equal dlstances between each other, but not
necessanl in the same order. All of them are facing north

direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an |mmed|ate neighbor of C.

H SI third to the Ieft of D D, does no %%t extre %e ds.

W ﬁma;é%_{ | E ;ﬁﬁﬁ é%

I
| qdhIddH
%’l
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©SBl Eight friends A, B, C, D, E, F, G and H are sitting in a row
with equal distances between each other, but not

necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of C.
H sits third to the left of D. D does not sit at extreme ends.
Who among the following sits immediately to the right of F?

1

O1RWN
Omown>

«74 @Reasoningbybasantsir



Eight friends A, B, C, D, E, F, G and H are sitting in a row
with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of C.
H sits third to the left of D. D does not sit at extreme ends.
How many people sit between C and B?

1) One
2) Two
3) Three
4
5

Four
None
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ht friends A, B, C, D, E, F, G and H are sitting in a row
equal distances between each other, but not

necessarily in the same order. All of them are facing north

direction. Two people sit between E and C. E sits at one of

the extreme ends. A sits second to the right of C. B sits

fourth to the left of F. F is not an immediate neighbor of C.

H sits third to the left of D. D does not sit at extreme ends.

If all the Rersons are made to sit in alphabetical order from

left to right, how many will remain unchanged as compared

to their original seating position?

1) One

2) Two

3) Three

4) None

5) More than three

=
wi
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Eight friends A, B, C, D, E, F, G and H are sitting in a row
with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of C.
H sits third to the left of D. D does not sit at extreme ends.
Four among five are the same in a certain way. Find the
?n% whé) does not belong to the group?

A
C
H
=

1R WN
>TIOW
1| | |
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Eight friends A, B, C, D, E, F, G and H are sitting in a row
with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of C.
H sits third to the left of D. D does not sit at extreme ends.
Who among the following sits second from the left end?

1

OI-RWN)
>TITOW
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If it is possible to make a meaningful word with the 1st. the

3, the 4 and the 7 letters of the word ‘COMPUTATION’,

then which of the following will be the 3 letter from the left

of that word? If more than one such word can be formed

give ‘X' as the answer and if no such word can be formed
e 'Y’ as the answer.

Q'EF'C MFI?O_LC{’EEI:I-'E?N' QTE{,%I%‘]EW?(, Eﬁ'&l?,:_t%a% AT

Tt & a1 g "@rg gg;ﬁw sero—qfﬂ‘@a?lrrawa—rr
" FETH'Y' T

2) M

3) X

4) Y

o) P
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How many such pairs of letters are there
in the word ‘SUGGESTION’, each of
which has as manyletters between them
in the word (both forward and backward
direction) as they have between them

gnthSEngliSE@?ﬁhﬁp%}i%%%eg%?
. REEKINRES:
i bl

SR

Four



Six boxes - A, B, C, D, E and F and all of them have
different weights. Box B is not the heaviest. Box A is
lighter than only one Box. Box F is heavier than both C
and D. Box D is heavier than B but not heavy as C. If Box
E is the lightest then which of the foIIowmg?box is exactly

betwe n_ e aQeggr/ieért nd the lightest B%gr. ]
g, , 1, . 3

s :%ETEF%“%’ ik .Aa%?%-ﬁﬁ%: 2

LR

1) F
2) B
2 C
5) Both.3 and 4
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There are twelve Igersons sitting in two parallel rows. Six

ersons A, B, C, D, E and F are facing horth and other six

, Q, R, S, T, and U are facing south. Each person from
one row faces exactly one person from the other row but
not necessarily in the same order. A and R sits diagonally
opR’Ssne each other. There are two persons sitting
between R and Q. One of the immediate neighbors of Q
faces C, who does not sit near A. P faces B and P is not
an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does
not sit at any of the extreme ends. S and T is not
immediate neighbor of each other. A sits at one of the
extreme ends.
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ﬂﬂ] A and R sits diagonally opposite each other. There are

two persons sitting between R and Q. One of the
immediate neighbors of Q faces C, who does not sit near
A. P faces B and P is not an immediate neighbor of Q.
There are two persons sitting between B and D. T sits
second to the right of U. E does not sit at any of the
extreme ends. S and T is not immediate neighbor of each
other. A sits at one of the extreme ends.

I1-Iov(\)/ many persons are sitting between R and U?
ne

2) Two
3) Three
4) Four
5) None
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ﬂﬂ] A and R sits diagonally olgposite each other. There are two
persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B
and P is not an immediate neighbor of Q. There are two
persons sitting between B and D. T sits second to the right
of U. E does not sit at any of the extreme ends. Sand T is
not immediate neighbor of each other. A sits at one of the
extreme ends. _ _ -
Four are alike in some way. Find which of the following is
different?

1) P
AR,
3) D
4) B
5) A
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ﬂﬂ] A and R sits diagonally opposite each other. There are two
persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B
and P is not an immediate neighbor of Q. There are two
persons sitting between B and D. T sits second to the right
of U. E does not sit at any of the extreme ends. S and T'is
not immediate neighbor of each other. A sits at one of the
extreme ends.

Who is second to the left of Q7?

1) P
PARS

3T

4) R |
5) Can’t determine
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ﬂﬂ] A and R sits diagonally olgposite each other. There are two
persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B
and P is not an immediate neighbor of Q. There are two
persons sitting between B and D. T sits second to the right
of U. E does not sit at any of the extreme ends. S and T is
not immediate neighbor of each other. A sits at one of the
extreme ends. _ _ _

If persons who are facing north sit as per alphabetical order
frorrtl Igft to right. How many persons donot change their
seats”

1) Three
2) None
3) One
4) Two
5) Four
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There are 6 members of a famil |n a
athering—-P, Q,R, S, T and U.
ather o and marrled toQ. Tis

sister in law of U who is a female. P

is daughter of S. S is not marrled to

T.Q has one dﬁ_xught r and on

sl



There are 6 members of a family in a %atherin -P,Q,R,
S, T and U.R is father of S and married to Q. 1 is sister in
law of U who is a female. P is daughter of S. S is not

1|:\rnal?rried o T.Q has oar;e dau h%;il:a)nc(i2 one go_rll. AT UR %
RT Q;ﬁ:g@%;w J wﬁ EE m |
%%ﬁ?%ﬁ%ls T 9 QTeT At E%Q %g

How S is related to T?

Cannot be determined.
Brother

Sister

Brother in law

Sister in law

Q1-RWN—-
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@y Lhere are 6 members of a family in a gathering - P, Q, R,
S, T and U.R is father of S and married to Q. T is sister in
law of U who is a female. P is daughter of S. S is not
married {o T.Q has oage dau h%;iand one son.

@%S -P, Q, R,S,.T 3T UR,
cl Q | T, wﬁ ST |
g’as%n %ﬁ%ls T | STt gl E%Q %gﬁﬂ«%
Who'is the grandmother of P?

1) S
2) U
3) Q
4) R
5) None of these
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There are 6 members of a family in a gathering - P, Q, R,
S, T and U.R is father of S and married to Q. T is sister in
law of U who is a female. P is daughter of S. S is not

%?rried o T.Q has oar;e dau hisn% one go_rll. T UR
el TR e

How P is related to T?

1) Daughter

2) Father

3) Sister

4) Niece

5) Sisterin law
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